LESSON 9  EXPONENTIAL FUNCTIONS
Definition  The exponential function  f  with base b is the function defined by 
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Definition  The natural exponential function is the exponential function whose base is the irrational number e.  Thus, the natural exponential function is the function defined by 
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Notation:  Sometimes, 
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Recall the following properties of exponents, where  m  and  n  be integers:
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Examples  Graph the following exponential functions.
1.
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In order to graph the function  f  given by  
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The  y-intercept of the graph of the function is the point 
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In order to graph the function  g  given by  
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The  y-intercept of the graph of the function is the point 
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In order to graph the function  h  given by  
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NOTE:  
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The  y-intercept of the graph of the function is the point 
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The Drawing of this Graph
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The  y-intercept of the graph of the function is the point 
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In order to graph the function  f  given by  
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The Drawing of this Graph

The  y-intercept of the graph of the function is the point 
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In order to graph the function  g  given by  
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       The Drawing of this Graph


The  y-intercept of the graph of the function is the point 
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In order to graph the function  h  given by  
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The  y-intercept of the graph of the function is the point 
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In order to graph the function  f  given by  
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The  y-intercept of the graph of the function is the point 
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The domain of the function is the set of all real numbers.
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